mean # PXL hits vs eta

+

-

=

0.95

8310 12 3

| mean # PXL Layers with measurement vs eta

4

3.5

SRR o e N

o
IR e
s
-

T s vt S

L add Aa ad 2 ad 4

J-.LQIIII;IIII;IIII;IIII;IIII;IIII

AT AL ISND SOV . Y

0.95

—=— DQM_TT__mkFit_lowpT

mean # STRIP hits V|

—— DQM_TT__mkFit_BDT_lowpT
L G B e Ay I
T e R

tof v £

K

N 79 : : :
......... UM VNIV SPURIPYY Y L SASTS RO

510 1 2 3

= DN W b 1 O N 00 ©

=
[]

Py

g

[y
l_\
TTrrrr[rrrrprrri
-
s
s

=
T

I S A b mm?#no“,“ﬂ*?- eeeeeriena

om0y by e b e b 1y e

g +

10 1 2

|
w

|
N



	Contents
	Page 1


